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QUESTION 1

What are the four main clauses of the pattern string used in Pattern Description Language? (Choose four.)
A. Select ...from...

B. Starts with ...then...

C. Order by...

D. With...

E. Define pattern...

F. Using...

G. Group by...

Correct Answer: AD

QUESTION 2

Which two are configured in the CDD file? (Choose two.)

A. Enable STDERR or STDOUT streams

B. The Processing Units that will run in the cluster

C. The physical machines that will run the Processing Units
D. Rule bases that will monitor the deployed Processing Units

Correct Answer:. AB

QUESTION 3

Which two statements are true about event and concept creation? (Choose two.)
A. A newly created event instance in a rule is automatically asserted.

B. A newly created event instance in a rule is not automatically asserted.

C. A newly created concept instance in a rule is automatically asserted.

D. A newly created concept instance in a rule is not automatically asserted.

Correct Answer: BC

QUESTION 4
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Which two statements are true about startup rule functions? (Choose two.)

A. Startup rule functions are mandatory and are used to initialize the system.

B. Startup rule functions take one argument.

C. In recovery situations that do not involve node failure, startup actions do not execute.

D. Startup rule functions execute on startup of an active node.

Correct Answer: CD

QUESTION 5

What are three characteristics of Pattern Matcher? (Choose three.)
A. Correlation across event streams

B. Complex patterns with sub-patterns

C. Supports windowing construct

D. Fault tolerance and high availability

E. Similar to primitive state machines

Correct Answer:. ABE
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